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fegE (PH) BOD (mg/1) SS (mg/1) (REEZ/ 100m])
KOH K 2N R M R TR
S 29 (SFE) 7.4 7.1 0.9 '>:<1.0 4.5 5.0 35,000 15,000
30 7.3 7.5 0.8 0.9 1.5 1.5 31,500 19,500
.>:<
31 7.2 8.1 1.3 0.6 6.5 7.0 35,000 15,500
a2 7.8 7.4 0.9 0.9 4.0 *3 5 41,000 14,000
3 8.1 7.8 0.8 0.8 4.5 3.0 1,650 8,250
4 3 6H 8.1 7.9 0.8 1.0 5.0 3.0 1,100 13,000
11 8.1 7.7 0.7 <0.5 4.0 3.0 2,200 3,500
X4y | vEfEERZEE | TowoTpEzesE| REIEMES
R DO (mg/1) NH* -N (mg/1) MBAS (mg/1)
RURK e | wl | z2EEN ] w0 | 2N ] 53
S 29 (SEE)) 9.6 10.3 0.08 0.04 <0.02 <0.02
30 8.9 11.0 0.06 0.04 <0.02 <0.02
31 11.6 10.1 0.12 0.03 'XO.O2 <0.02
45 2 9.4 9.2 0.10 0.06 'XO.OB <0.02
3 10.7 11.9 <0.01 0.01 <0.02 <0.02
4 3 6H 10.5 12.8 <0.01 <0.01 <0.02 <0.02
11 10.9 11.0 <0.01 0.01 <0.02 <0.02
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